
Instruction Manual
Fireman’s Pole

1

Recommended Tools:
	� 9/16” Wrench or Socket

Part Number Part Description Quantity

CUSTOM Top Assembly 1

CUSTOM Pole with Base 1

91286A627 3/8” Bolt 8

1133622 3/8” Lock Washer 8

11572548 Concrete Anchors 4

Fireman’s Pole
SKU: NW-FP##

Need help? 
Call 1-800-932-3339 or
Email info@gymsupply.com

Step 1:
Unpack the Top Assembly and Pole with Base. 
If the Base is threaded into the Top Assembly 
during shipping, remove it from the top before 
starting the assembly process.

Step 2:
Thread the stud on top of the pole into 
the Top Assembly and tighten it securely.

Step 3:
Position the Top Assembly on top of the 
warped wall and fasten it using 3/8” Bolts 
with 3/8” Lock Washers into the pre-installed 
T-Nuts in the top platform of the warped wall.

Step 4:
Adjust the base on the pole until it is flush with the floor by either tightening or loosening it as needed. 
Follow the attached manufacturer’s instructions to install Concrete Anchors through the base plate to 
securely fasten the pole in place.



Instruction Manual
Fireman’s Pole

2


